
  

 The Role of Institutions in Development 

Economists are focusing more and more on how the institutional framework and 
political history of a country shapes its economic outcomes. 

Institutions are the constraints (rules) placed by law and social norms on human 
behavior.

What is the fundamental difference between a market and a command economy ?
In a market economy, agents conduct transactions at “arm’s length.”
In a command economy, cooperation is coordinated by a “planner.” 
All economies have elements of both (mixed economies), but different systems tend to 
emphasize one or the other.
Market forces are the pillar of the capitalist system but:
1) the market cannot function properly or no market exists
2)The market exists but implies inefficient resource allocation
3) the market produces undesirable results as measured by social objectives other 
than the allocation of resources ( e.g  a more  equal income distribution). 



  

Interactions Between Institutions

 Formal institutions (laws) evolve with informal institutions (culture and 
social norms). It is difficult to establish formal laws which conflict with 
social norms (e.g., border versus ethnic division in Africa). Formal 
institutions can strengthen informal institutions and vice versa. They 
are complementary.

What Do Institutions Do?

We will consider some problems that need to be solved in any economic 
system:   

Informational problems
• Hold-up problems
• Commitment problems
• Cooperation problems
• Coordination problems 



  

Informational Problems

Asymmetric information:
If a creditor does not know the creditworthiness of a borrower,a loan transaction may 
not take place.  

Adverse selection may lead to dominance by unreliable players and unfavourable 
exchanges and eventual market collapse. 

Information asymmetries and adverse selection are common in credit markets.  
Without information on borrowers, creditors cannot rely on the market and instead 
ration credit via other means (contacts, reputation, repeat customers, etc.). 

Moral hazard: the possibility that one party takes unobservable actions (often risky) 
that hurt the other party’s interests. Common problem with insurance contracts. (e.g 
no private insurance against the risk of  unemployment)



  

George Akerlof’s Market for Lemons (used cars):

50% Good Cars -- Seller cost: $10K, Buyer Value: $12K

50% Bad Cars   -- Seller cost: $  5K, Buyer Value: $  4K

A risk neutral individual considers expected payoff:

(.5 x $12K) + (.5x$4K) = $8K

A risk-averse or ambiguity-averse individual might not even buy a 
car at $4K.

Without information on  car’s condition, no one will be willing 
to pay $12K.

A seller of the bad car will make a profit at $8K, but not the
seller of a good car.  Only bad cars are offered, and  
eventually the market disappears ( for both kinds of car).



  

Institutional Solutions to Informational Problems

Disclosure rules are obligations to give relevant information about a transaction 
(common for houses, etc.). 

Regulation of access or entry rules to govern entry into a profession (e.g. diplomas, 
certificates, licenses).

Warranties and return policies guarantee quality of a product. 

Signaling provides credible information (brand names, franchising). 

Chain stores are informational intermediaries which gather information about the 
products they sell. 

Rating agencies also serve as informational intermediaries (Cars.com, eBay 
feedback).   However they my have their agends and wrong incentives (Moody’s, 
S&P)

These solutions do not need a central authority ( State) but usually work well only if 
there are effective formal institutions (legal system) to enforce contracts.

Informal institutions help solve informational problems: repeated interaction, 
reputation, relational contracting, etc.



  

A hold-problem is a particular kind of commitment problem. It  occurs when  a business 
partnership requires an initial investment for one party. . When the investment is sunk, 
the second party moves to renegotiate the original bargain.

(e. g. build a plant to supply a certain quantity of a good at a fixed price, after the plant 
is created accept to buy only at a lower price)

Sunk costs have been incurred and cannot be recovered.

Without remediation, the hold-up problem causes underinvestment.

 The hold-up problem is more acute the more relationship-specific the investment is.  
Asset specificity, for example, means an investment only has value for the specific 
transaction.

The primary formal solution is binding and legally enforceable contracts. Sometimes 
contracts have to be very detailed, however, and legal systems must be sophisticated.

Vertical firm integration (ownership along the supply chain) is a common informal 
solution to the hold-up problem. However it means fewer transactions occur through 
markets and more decisions occur inside each  firm ( whose internal functioning is 
organized through  command chains)::this may lead to inefficiency ( eg. a good is 
produced internally at a cost higher than the external price).



  

The Cooperation Problem

Occurs when individual self-interested decisions result in suboptimal outcomes across 
all parties

A Nash equilibrium (N.E.) occurs if one agent will not deviate from his strategy 
regardless of the action of the other party.

The prisoner’s dilemma  is the leading example of the coperation problem..   

In this case from an individual’s point of view, it is always optimal to confess: this the 
dominant strategy. 

Note that the outcome is inefficient: both agents would be better off  coperating than in 
the N.E.

Cooperation would create the “socially” optimal outcome, but there is an inherent 
commitment problem to be addressed: (an agreement is “cheap talk” if no means to 
punish those who breach the agreement).  

The inefficiency of pure self-interest maximization: Pursuing self interest is not always  
beneficial to society  ( versus Smith's invisible hand principle)



  

A collective-action problem  arises when people fail to undertake collective actions, even 
if it is in their joint interest to do so. 

An individual or subgroup gets a free ride when it benefits from the actions taken by 
others without incurring any of the costs.  

Solving, or not solving, collective action problems is fundamental to human societies.
Today we face this problem with climate change. 
An other example is the tragedy  of the commons (fertile crescent in Mesopotamia now 
desertified through overgrazing).  
Nobel Elinor Ostrom shows local communities do organize to prevent overexploitation of 
the soil. 
In general, various institutions have evolved  to establish cooperation across individuals: 
nations, political parties, labor unions, professional organizations, international bodies.
As opposed to dictatorships, democracy encourages the associations to overcome the 
collective action problem. 

Spontaneous strikes or riots are informal solutions to collective action problems. 

Recently, the ease of communication has reduced costs of spontaneous forms of 
collaboration. 



  

The Coordination Problem

In coordination games multiple  Nash equilibria emerge in which players choose the 
same or corresponding strategies. A typical example  is choosing the sides of the road 
upon which to drive. 

Formal laws and standards help in reaching one coordination equilibrium over another 
(e.g. traffic standards). 

Conventions, informally enforced, also help solve the coordination problem (customs, 
social and religious norms).

In the traffic case  it does matter which equilibrium is chosen in terms of social wefare.  

But: in other situations  different equilibria have different  welfare outcomes. 

Beneficial laws very difficult to enforce unless large majority coordinate in respecting 
them.  

In many developing countries the prevalence of sub-optimal equilibriums (e.g., lack of 
law abidance, tax evasion, corruption) have evolved to become social norms.

 These can be difficult to understand and reverse.  Reform usually requires collective 
effort: “Big Push” strategies.

 



  

A Pure Coordination Game: The Stag Hunt Game. 
There are two NE, which can be Pareto ranked. 
Nobel Thomas Schelling suggested “focal Point” solutions. 
Eg. A group of people do not decide on a meeting place in Manhattan 
but all independently go in front of the Central Station Clock.       



  

The Functionalist Fallacy

Many institutions are inherited from the past and are not efficient in  addressing 
contemporary  problems. A problem with conventions and social norms as coordinating 
devices is that they evolve very slowly.There are no rules on how rules change ( as 
opposed to legal systems which establish ways to self- change). This is one of the 
themes of The Narrow Corridor by Acemoglu and Robinson ( the “cage of norms”).  

     Reforming institutions requires overcoming  (meta) collective-action problems, which 
often is difficult in developing countries. 
Institutions are themselves sources of power and influence and  can in fact be used by 
vested interests to prevent or punish collective movements and mobilization. 

Overall, large groups in which each individual has a minimal stake in solving a problem 
by public action suffer more from collective-action problems than small groups with large 
stakes in public action, even when public action in solving the problem of a large group 
would improve aggregate social welfare while solving the problem of a small group 
would worsen social welfare.     



  

Political institutions determine the allocation of political power among groups of 
citizens.   
They have  four key roles in development process:
Provide institutional environment for markets to function e.g. law and order; property rights;

Correct market imperfections

Provide goods not adequately supplied by markets: public goods ( e.g. infrastructures) 

and merit goods such as education, health, 

Ensure equitable distribution of income and protect  the vulnerable

Ensure  macroeconomic stability

Many governments in developing countries are not performing their core functions 
properly

Political institutions  



  

There are two main political regime types:

Autocracy: all power resides in a single person or narrow group

Democracy: 

in most democracies, citizens have fundamental rights of freedom of expression, 
freedom of association, and freedom of movement. 

In particular: Free elections are used to choose  government and parliament.

( Free means: vast array of candidates, generally organized in different parties,  
universal adult suffrage,ballot secrecy and security, full access to the electorate 
through media system).   



  

Several indicators exist to gauge strength and quality of institutions

Aggregate governance index (Kaufman and Kray) 
http://info.worldbank.org/governance/wgi/

Measures of property rights and expropriation risk (International Country Risk 
Guide)
https://www.prsgroup.com/

Index of democracy, political rights and civil liberties (Gastil, 1983), Freedom House
https://freedomhouse.org/countries/freedom-world/scores

Index of corruption (Transparency International)

https://www.transparency.org

Economic freedom index (Heritage Foundation)
https://www.heritage.org/index/

Index of social progress
https://www.socialprogress.org/
Other sources at:
https://www.isa-sociology.org/en/opportunities/world-social-indices

http://info.worldbank.org/governance/wgi/
https://freedomhouse.org/countries/freedom-world/scores
https://www.transparency.org/
https://www.heritage.org/index/
https://www.socialprogress.org/
https://www.isa-sociology.org/en/opportunities/world-social-indices


  

http://www.systemicpeace.org/vlibrary/
GlobalReport2017.pdf
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The Theory of Autocracy by Mancur Olson

Consistent with standard  economic theory, we assume that agents will act to maximize 
personal utility ( Public choice theory axiom)

A tale of two bandits:

A Roving bandit cares only about current revenue and disregards long term 
consequences of banditry.  Will steal as much as possible from each economy

A Stationary bandit has long term interest in health of economy, structures banditry to 
maximize revenue over time, and leaves some output to the economy.

An unstable dictatorial regime will behave like a roving bandit.

If a dictator expects to retain power, he will behave as a stationary bandit and maximize 
both current and future revenue.

Stationary bandit has partially coincident interests with population, will provide some 
services to increase productivity( golden eggs goose effect).



  



  

 Public Choice Theory of Democracy

 

Majority rule ensures candidates will propose a mix of policies appealing across voters.

For simple majority elections, the median voter determines the election. The “median 
voter theorem” predicts that candidates’ policies will converge towards the center 

Assumes 1) one-dimensional political issue (e.g., income distribution)  2) two 
candidates. 3)candidates know voter preferences.

Median voter and income redistributions: assuming income is skewed toward top 
earners, “one-person one-vote” produces bias of redistribution of income from the rich to 
the poor.  However not true. Interestingly, Islam  et al (2018), looking at 21 OECD 
countries over 1870-2011, provide evidence that rising inequality significantly depresses 
the income tax ratio.

    Islam, Md. Rabiul & Madsen, Jakob B. & Doucouliagos, Hristos, 2018. "Does 
inequality constrain the power to tax? Evidence from the OECD," European Journal of 
Political Economy, Elsevier, vol. 52(C), pages 1-17

     



  



  

Autocracy and Democracy Compared

In general, democracies redistribute more from rich to poor than  Autocracies 

 Also democracies provide more public services (education and health).   

In autocracies, wealth and power  are concentrated within a small elite.

 Autocracies may provide services if useful to  maximize their own income and maintain 
power. 

Taxes will fund military and police expenditures and consumption of the elite. 

The elite may discourage economic development ( e.g. entry of new firms) and erect 
barriers to social mobility..



  

An autocracy restricts access to positions; there is usually free access to positions of 
power in a democracy. 

Lack of accountability is common in autocracies, while accountability is induced in 
well functioning democracies by need of politicians to be reelected. 

Border Conflicts also may differ : Dictators expand their territories ( to gain more 
power e.g. collecting more taxes) while democracies experience secession ( if a 
country is too divided across economic, religious or ethnic lines). 

In autocracies, no third party can enforce commitment by dictators to political 
programs or  promises. In  democracies, separation of powers and institutional 
checks and balances mitigate the commitment problem. Constitutions require 
supermajorities to be changed.

However formal laws  no guarantee this will be enough for a stable 
democracy: role of civil society key.

   



  

Presidential and Parliamentary Democracies

In a presidential regime, the head of the executive, the president, is usually elected by 
voters (U.S., Latin America). A divided government occurs when one party controls the 
executive and another party controls the legislative branch.

In a parliamentary regime, representatives are  elected directly and the executive is 
appointed by the parliament.  Therefore, the executive usually has support of legislative. 
(Western Europe, Africa).

Electoral Rules

Majoritarian rule (first past the post), one representative –the candidate with the most 
votes- is elected per legislative district. 

Proportional rule allocates multiple district seats for parties in proportion to the number of 
votes each party receives. 

District magnitude is the average number of seats in a district. 



  

 Presidential and Parliamentary Democracies. 



  

The Distribution of Electoral Systems. 



  

Do institutional differences within democracies matter for economic performance? 

 Person and Tabellini (2003) find:

Government expenditures tend to be higher in parliamentary regimes compared to 
presidential regimes.

It also appears that parliamentary regimes and proportional voting increases spending 
for social welfare programs. 

Offered explanations:  

Separation of powers is stronger in a presidential democracy: makes it more difficult to 
implement ambitious, costly reforms.

Social spending dynamics is different in majoritarian rule (politicians try to satisfy the 
median voter district by district) vs. proportional rule (politicians try to satisfy  largest 
proportion of voters across all districts).  Social programs tend to satisfy large 
proportion of voters but may not be the least costly way  to prevail in a majority of 
district. 



  

 Political Institutions and Fiscal Policy Outcomes



  

 Log Income Per Capita and Democracy. 



  

Education, GDP per capita  and Democracy

Seymour Lipset  observed that democracy is more common in rich and educated 
societes  and argued that education presumably broadens men's outlooks, enables 
them to understand the need for norms of tolerance, and increases their capacity to 
make rational electoral choices. 

There is indeed a positive association between levels of democracy  GDP per capita 
and level of education across  countries as the previous figure shows. 

However there is no relationship in the data between time changes in  democracy
and time changes in GDP per capita or education, as the next two figures show.       



  

 Change in Income and in Democracy, 1970-1995. 



  

Changes in Education and Changes in Democracy (1970-1995). 



  

 Inequality, Social Conflict, and Democracy (Acemoglu and Robinson)

Acemoglu and Robinson  in  “The Economic Origins of Dictatorship and Democracy” ( 2006)  
notice that hstorically, democracy has often been introduced as a response to revolutionary 
threats and/or  in times of crisis (recessions, droughts).    

Faced with  risk of expropriation, elites can accept democracy as a commitment technology 
that makes credible their promises for redistribution. Autocracies can promise benefits to the 
poor, but their promises may not be credible and therefore unlikely to end  social unrest.  

In general the presence of  political parties and other social organizations empowers citizens 
and make elites more inclined to concessions. Indeed the stability and progress   of 
democracies depends on the development of civil society.

Democratization is less likely in societies where assets of the elite are mostly agrarian rather 
than industrial, because the first kind of assets are at the same time much easier to tax  (so  
higher danger of  severe redistribution) and less likely  to be damaged by rebels. Land cannot 
be physically destroyed.   
Democratization is less likely with either very low or very high levels of inequality. The payoff (in 
terms of size of redistribution) to organize social mobilization  when inequality is very low will 
be low. When  inequality is very high the rich have much more to loose from  change and will 
oppose  strong resistance.  
The presence of an established middle class is important for democratization.  The middle 
class is likely to oppose confiscatory measures, harsh  taxation   and  generally  to be a 
moderating influence in a democracy so the ruling elite will have less afraid of  the new political 
regime.  
Finally Globalization positively affects democratization. One reason is that it makes capital 
more difficult to tax, a second that democatic countries may decide to sanction undemocratic 
ones ( e.g block financial aid and international investment,  boycott trade).



  

• Huntington in The 
Third Wave: 
Democratization in 
the Late 20th 
Century (1991)  
observes three 
waves of 
democratization. 
Early 20th century, 
Post-WWII, and End 
of cold war.



  



  

Remark: From the tables reporting the dates of birth of democracy in each country it is 
not easy to infer which definition of democracy is used. Universal suffrage seems not  
to be required of a  countrys to be defined democratic.   
For instance: US is defined to be a democracy since1800. However at the time only 
property owners,  a few percent of the population, voted . The 13th amendment 
abolishing slavery was passed in 1865,  the 14th amendement granting citizenship to 
all persons born or naturalized in the United States—including former enslaved people 
was passed only in 1868, and the 15th amendment in 1870. Art 1: “The right of 
citizens of the United States to vote shall not be denied or abridged by the United 
States or by any State on account of race, color, or previous condition of servitude.”  In 
fact since 1888 Jim Crow’s laws were passed in Southern States making extremely 
difficult for African- American to vote (literacy  and tax paying requirements, grand 
father clauses etc. ) These laws were only abolished with the 1964 civil rights act 
prohibiting “discrimination on the basis of race, color, religion, sex and national origin.” 
further reinforced by the 1968 civil rights act. 
We can add that women in the US were given electoral rights only in 1920 ( 24th 
amendment). 
Italy is said to have become a democracy in 1946. However the general election in 
1861 was conducted by the 848 electoral law of the Kingdom of Sardinia, in which only 
literate men over the age of 25 and paying a certain level of taxation were allowed to 
vote (again a few percent of the population). The right was  extended by the “historical 
left “ and under Giovanni Giolitti voting rights were given to all males from the age of 
30  on (21 if literate). So the unprecedented novelty in italian national history  in 1946  
was that women could vote and that universal suffrage became law.         
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